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Note: 1) All questions carry equal marks and are compulsory
2) Figures to the right indicate maximum marks for a q

Q1. (A) Attempt any two sub_questions from a
(True or False)

a) The logical function AND returns
conditions in it are TRUE

b) A chart cannot be moved aro
c) Filter means getting only tho

condition.

(B) Attempt any two
(Multiple Choice)

d) Various controls su
can be selected
A) Form De

c) Toolbox W
e) Visual B

A).VBP

D
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D) Exit Sub
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m global sellers

Standards

cular market segment.

is Security.
the message is not read by others.
number is never seen by the merchant.

readable text into cipher text.
have the same key in Symmetric Key Encryption.

sub -questions from p), q), r), s), t), u), v), w) in E- (5)ultiple Choice)
t of E-commerce focuses consumers dealing with each

B) C2B c) CZC D) BzC
revenue model, revenue is generated from sales ofgoods,or services

B) Affiliation C) transaction D) Sales
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A) En

der
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a) Exp
(i)

b)

rce.

) Market creator

inE -Commerce.
and Public key

a) and b) in MS-EXCEL

in a worksheet.

to obtain
of the Basic if Basic is more than 40

(B)

(7)

...,

(B)

column D

' ii .i;:rt.::..-

::=*-r- C D E

BASIC DA HRA
DY 50000

UJA 35000
AGARWAL 60000
KHATRI

BAKSHI 40000
BHATT 60000

,000 otherwise 1L0% of the

v) _-- is an
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ii) HRA as 24o/o of the Basic whenever Basic is b
of the Basic in column E.

iii) Find number of cells where the Basic is a

b) The following data has been entered in
|:

Write steps to
i) Find the T
ii) Result i

10

0or

EL

Income in column C and Income Tax in

number of people whose monthly salary is Iess than

\.,1

(B)
(7)

c)

A B C

1_ NAME MATHS SP-
2 SAMIR 55 60 ....,..
-J GANESH 56 62
4 NASIR 65 6 ii"tj'
5 NEETA 70 r65;,*i
6 SARITA /5 ,r5$ +'..:-
7 REKHA 45 r'' 

Lxt'

D

ME INCOME TAX

*:l.i
.:i

Rate
Nil
10o/o

200/o
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d) The following data has been entered in a wor

Write steps to find the
using HLOOKUP function.
CLASS and TA is given

Q4. (A) Answer any one s\ (B)

a) The following da
worksheet.

cells E2, E3, E4 and E5

dent'RAVI'
in M1 and M2.

most likely scenario of monthly

s to find Total Expenditure in 810 and saving in E5
Explain steps to create Best and Worst S

ues of cells B3 to 89.

{.i

C DB

SALARY CLASS SALT1 NAME

25000 ctA2 ANTHONY
,iTABASU 1200003

:i4 BANERJEE 45000

5 VARMA 20000
,i

'l:, ,:DALAL 60000

125000CHAWLA

A ,-,D.'.,j, ,, '. E

1. NAME . ,!y[J,:'. :." TOTAT
2 SEEMA ,60 .,

IATINaJ :6t:J^-'

4 '72

RAVI5 '91.

:: .::. rt.' r.\r .1'..= G.- .,,' ,,i.1l' i.lnr :: f .,ql'.\
D
L) C D E F

ily Budget

l-.I 20000 Income 175000
.ricity-'- 5000

, -i-' '-:t:-i.rr
irii;:.-t : ' - 30000 Saving
hes 2500
cation 10000

..:x 7500
15000

,xlJerrul L

2A54EA7 r+s rclffit86tees rzc rAes Be

cenario by changing

Create

E F ..A

TA

6

7

10



Paper / Subject Code: 11119 / Computer Systems and Appl

For Best Scenario change 83 to 15000,85 to 24

For Worst Scenario change 83 to 30000,
then display the summarY.

Q4. (B) Answer any one sub-question from c)

c) The followin data has been entered

Write steps to
i) Display o

ii) Displ
Marks
iii) D

alp
d) Expl

tl

Q5 (A) ) in VISUAL BASIC

which allows the user to enter
ce of a product and calculate and

correct up to 2 decimal places

le form which allows the user to enter
display the average of these numbers.

84 to

second

4) YEAR( )

n from c) and d) in VISUAL BASIC
sign a suitable form that allows the user to enter
the total marks obtained. Display the result as

are more than or equal to 280 otherwise "FAIL"
to compute and display the sum of the series
+51*53

XX X*ic{. ***r<* r.* * *** X XX* *

i.J

(B)

(7)

BA

RNO NAME1.

2 210 SUNIL .i ll 
t.'.,

5 202 ANIL

JATIN ,r. -i11#
4 203

VIJAY ,ih;'l;;"',1t".';5 204
6 205 MANOJ ,,fli .i1i.'.,1.1,.
7 206 AN TTA ."1ti;.,itg1;1;'],ii,", 1

8 201 S w l TA".:,j::1..\t4Y'g1r:;.,1i. ;,it
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